Expanding Harder Brackets

Expand and simplify:

(a)
(b)
()
(d)
(e)
(f)

x(x? + 4x + 2)

(x+2)(x*+x+1)
(x-1DE2-x-1)
Bx-2)(x2-x-1)
(2x -1)(2x% — 3x +5)

2x +3)(x%? —6x—3)

Expand and simplify:

(a)
(b)
(c)
(d)
(e)
(f)

(o) (o -1R)

(x+ D+ 2)(x +3)
x+d)x-D(x+1)
(x—2)(x=3)(x+1)
(x+1)Q2x+ D(x +2)
Q2x+1D)(x-3)Bx—-1)

| (@)
[®)
[©

| Expand and simplify:

(x +2)(x + 1)?
(x +2)(2x — 1)?
(2x + 3)(x — 2)?

Expand and simplify:

(a)
(b)

(c)

(x+1)3
(2x—1)3
(3x +2)3

(o) e A

() 5c2i Baciats T e
(<) a3 2 2or 2]
(3),85c> -Bac-6C2
@) 4oc3-%x +13¢ -5
(F) 22p3 ~Qoc®-24oc =4

(a) 3+ 3% 2o
(o) 3 +6C*+Moc+6

) St o —at
(&) BE° — Fhef Hoct+6

e Y2+l o + 2
(F) 6x3-1Toc* -4+ 3

(aysafece: 6oc 2
() A3 4420+ 2
() 23C_3 = Seendt . K59 8 (]

(@) x>+ 3o +32¢+
(b) §axc2-122¢c*+6oc-1
(c) 2153+ B+ 3boc + B




